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Please draw a around your answers. No calculators, cell-phones, notes, etc. allowed.

1.(10pts) Show that the vectors a = (1,1,1),b6 = (1,0,1) and ¢ = (0,0, —1) are not coplanar (i.e.,
do not lie on the same plane).
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2.(10pts) Find an equation of the plane passing through the point P(2,1,—1) and containing the
linezg=1—-ty=1+¢tz=21
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3, (5+5=10pts) Consider the surface 3y® — 927 + 22 + 1 = 0.
(a) Sketch and name the curves found by intersecting the surface with the xy-plane, zz-plane and
the yz-plane.
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(b) Sketch the surface.

4.(15pts) Find the distance from the point P(—6,1,21) to the linemmSt_AL,y:t—B,zE;i—l_
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5.(4x5=20pts)Find the following limits it they exists or show that they don’t exist.
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6.(5x 5=25pts) Find the indicated partial derivatives.
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7.(5+5=10pts) Consider the vector function r(t) = <1n(1 il t) s (1)t>
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(a) Find Jimr(t).
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